Continuity and
Differentiability

Short Answer Type Questions

Q. 1 Examine the continuity of the function f(x)=x> +2x° —1at x =1.

® Thinking Process

We know that, function f will be continuous at x=g,if lim f(x) = lim f(x)=f(a).

Sol. We have,

and

and

x—a x—a"

flx)=x +2x% —1atx =1
lim fx)= lim @+ h°+2(1+h?-1=2

x 1" h—-0
lim fx)= lim 1-h°+21-h? -1=2
x -1 h—

lim fx)= lim f(x)

x—>1" x—>1

f(y=1+2-1=2

So, f(x)is continuous at x=1.
Note Every polynomial function is continuous at any real point.

3x +5,if x >2

Q-2f(x)={ )

X,

Sol. We have,

Atx =2,

and

Since,

. atx =2
if x<2
3x + 5,ifx 22
flx)=1 , ) atx =2.
x°, ifx<2
LHL= lim (x)?
x =2
= lim @ -h?=Ilim (4+h%> - 4h)=4
h—0 h—0
RHL= Iim (3x +5)
x—>2"

= lim [3@2 + h)+ 5] =11
h—0
LHL=RHL at x =2

So, f(x)is discontinuous at x = 2.
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1—rcos 2x

Q.3 f)={ 22

5

Sol. We have,

Atx =0,

and
Since,

,1f x

5, ifx=0
LHL= lim 71700232"
x—>0" X
. 1-cos2(0-h)
= lim —
(0= hy
1-cos2h
m e
h—-0 h2
1-1+2sin® h
m B
h—-0 /’]2
2 (sin h)? {
(hy?

[+ cos (- 6) =cos 6]

[-cos2 0=1-2sin 0]

. sinh
= s lim —— =1
h—0 h—>0 h
=2
RHL = Iim
x>0 x
. 1-cos2(0+ h)
= lim —_—
h—0 0+ h)

2sin® h [

1-cos2x
2

= lim =2

h—0 A2
f0)=5
LHL = RHL = £(0)

. sinh
- lim =1
h—0 h

Hence, f(x)is not continuous at x = 0.

2x% —3x -2

x—2

Q. 4 f(x)=
5

2x° - 3x -2

Sol. We have, f(x)=
5,

Atx =2,
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,Afx#2
atx =2

ifx=2

Jfx #2
a

x — tax=2.

if x =2
HL= jim 2 —8-2
x—>2” x -2
2@ -hP -3@R-h)-2
@-h-2
8+2h° —8h-6+3h-2
—h

= lim
h—0

h(2h-5)
-h

= lim =&=—— "= |im
h—0

=5
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2(@2+h?-3@2+h-2

= lim

h—0 @+h-2

. 8+2h?+8h-6-3h-2
= |lim

h—0 h

2
_ im 2h +5h: im h(2h + 5):5
h—0 h h—-0 h
and f2)=5

LHL = RHL =£(2)
So, f(x)is continuous at x = 2.

M,ifx¢4
Q.5 f(x)={2(x —4) at x =4.
o0, if x=4
]
Sol. We have, flx) =<2(x — 4) atx = 4.
0 ifx =4
Atx = 4 LHL = lim =4
x4 2(x —4)
|4—h-4]

= |lim
h

lim

S02[(4~h)- 4] n-0(8-2h-8)

1

— and f(4)=0=LHL

T h—0 —2h - 2
So, f(x)is discontinuous at x = 4.
|x|cosl, ifx#0
Q. 6 f(x) = x at x =0.
0, ifx=0
|x|cos1 if x#0
Sol. We have, f(x) = x’ atx =0
0, fx=0
. 1 1
At x =0, LHL = lim |x|cos —= lim |0 - h]|cos ——
x>0 x h-0 0-h
= lim hcos (_—1)
h—0 h
= 0 x[an oscillating number between —1and 1] = 0
RHL = Iim |x]| cosl
x—->0" X
= lim |0+ h|cos !
h—0 0+ h)
= lim hcos1
h—0 h
= 0 x [an oscillating number between —1and 1]= 0
and f(0)=0
Since, LHL =RHL = £(0)

So, f(x)is continuous at x = 0.
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|x —a| sin ,ifx#0
Q.7 fx) = x—a at x =a.
0, ifx=a
. I
|x —a|sin Jfx#0
Sol. We have, f(x) = x-—a atx=a
0, fx=a

Atx =a, LHL = lim |x —a|sin
x—a

= lim a—h—asin(1J
h—0 a-h-a

= lim - hsin (1j
h—0 h

= 0 x [an oscillating number between —1and 1] = 0

[ sin(- 0)=-sin 0]

RHL = lim |xa|sin( ! j
x—a

x—>at

. ) ) 1
= lim |a+ h—a|]sin| ——— |= lim hsin—
h—0 a+h-a) h-o h

= 0 x [an oscillating number between —1and 1] = 0

fa)=0
LHL = RHL = f(a)

So, f(x)is continuous at x = a.

and

1/x

e .
—, ifx=#0
Q.8 fx)={1+eV* at x =0.
lO, if x=0
1/x
,ifx=0
Sol. We have, flx)=41+e"* atx =0
0, ifx=0
1x ol/0-h
Atx =0, LHL= lim = lim
* coo- 11 eVt nh0q4el0h
o-1/h 1
= lim = lim
o 11e T nho gl Are M
1 1 1
= |lim = = e’ =
hs0e"" 11 e® +1 w41 [ ]
1
:Tzo
0
1/x
RHL=lim -
x>0t 1+e'*
g0+ h 1/h
:nlano1+eV0+’7 = hl'in01+e1/n
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: 1 1
= lm —— =

hoo0e My ™ 41
1
= =1 e ¥ =0
0+ 1 [ |
Hence, LHL=RHL atx = 0.
So, f(x)is discontinuous at x = 0.
2
X .
-, ifo<x<1
Q.9 f(x)=1 2 atx =1.

a?—3x+%,ﬁ1<x£2

2

X .
—, if 0<x <1
Sol. We have, f(x) = 2 atx =1
2x% —3x + =, if1<x <2
2 2
At x =1 HL= fim % = jim 020
xr o1 2 h—0 2
) 1+h*-2n 1
T h5o0 2 T2
. 5 3
RHL= Im |2x° —3x + —
x —>1" 2
3
= I|m 2(1+ hy? +h)+§
(2+2h2+4h 3- 3h+3j= 10221
2 2 2
2
and f(1)=1—=1
2 2

o LHL =RHL =£(1)
Hence, f(x)is continuous at x = 1.
Q. 10 f(x) =|x| +|x —1]at x = 1.

Sol. We have, flx)=|x| +|x —1]atx =1
Atx =1, LHL = lim [|x|+|x —1]]
x =1

= lm [|[T-h|+[1=-h-1]]=1+0=1
h—0
and RHL= lim [|x|+|x-1]]
x -1
:hlim0[|1+h|+|1+h—1|]:1+0:1
and f)y=[1]+1]0|=1
LHL = RHL = f(1)

Hence, f(x)is continuous at x = 1.
Note Every modulus function is a continuous function at any real point.
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3x —8,ifx <5
Q. 11 f(x) = . at x =5.

2k, ifx>5
Sol. We h ; 73x78,ifx35t s
ot. e have, (x)_{Zk, ifx>52 %"

Since, f(x)is continuous at x = 5.

LHL = RHL = f(5)

Now, LHL = lim (8x — 8)= ’lirrg) [3(5—-h)-8]
—

x—5"

= lm [15-3n-8]=7
h—0

RHL= lim 2k = lim 2k =2k =7 [ LHL = RHL]
x—5" h—0
and f(5)=3x5-8=7

2k=7 = k:Z
2

2°*1_16 .
Qo 12 f(x)= 436_16 ? lf xizatxzz.
k, if x=2
2* 2 _16 " 5
Sol. We have, flx)=4 4% _16 ' T x#catx=2

K, if x=2

Since, f(x)is continuous at x = 2.
: LHL =RHL =£(2)

x 2 _nHd L(oX _
Atx=2 lm 22 22 = lim 4% 41
=2 4% — 4 x2 x) - (4)

T Gl [ a®>—b® =(a+ b)(@a-b)]
x-2 (2% — 4) (2% + 4)
— i _ad
Co22% 14 8 2

But f) =

J1+kx — /1 - kx

r1f-1< x<0

Q.13 f(x) = x _ at x =0.
2x +1 if 0<x<1
x—1'
T+ kx —1—kx
Wehave fcl—)  _x if—1<x<0 R
Sol. We have, f(x) = o1 it 0excq Ax=0

x—1"
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and

Q.14 f(x)=

Sol. We have,

Atx =0,

Also,
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1—-cos kx

J1+ ke — 11— kx
x

LHL = lim
x—>0"
, JT+ke = JT—ke ) (T+ ke + J1—kx
= lim .
x0” x J1+ ke + \[T—ka
) 14+ ke — 1+ kx
= lim

w0~ [T+ kx + [T kx]
2kx

= |
erE* x4 /1+ kx + /11— kx
2k

. JT+kO-h+T-k(0-h)

2%k,

2k
=lim = =
h -0 J1—kh+ J1+ kh 2
f(O):2XO+1:
0-1

k=—1

[+ LHL= RHL = £(0)]

,ifx#0

xsin x
at x =0.

1 .
=, ifx=0
1-00skx 4 Lo
f(x): X Sinx
1
2
LHL = lim

x—0"

atx =0
ifx=0

1-cos kx im 1-cosk (0-h)
x sinx h—0 (0 - h)sin (0 — h)
. 1-cos (- kh)
= ||m -,
h—0 —hsin(=h)
1-cos kh

hsinh

= h|m0 [+ cos (- 0) =cos 6, sin(— 0) = —sin 0]
1-1+ 252 10

= lim

{ cos 0 =1-2sin? 9}
h—0 2

hsin h
2sin2 K
hsin h

. kh . kh
2 sin— sin—
2 1

= lim
h—0
. k%h/4
= lim L= .
pDo KRR Sinh T h
2 2 h
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x .
) ) ———, ifx#0
Q. 15 Prove that the function f defined by f(x)= | x| + 2x
k, if x=0
remains discontinuous at x = 0, regardless the choice of k.
—r ifx=0
Sol. We have, flx) =1 |2 + 2x
K, ifx=0
Atx =0, LHL= lim —— = jim ©-h _
x>0~ |x| +2x° h-0|0—h|+2(0-h)
= lim ——— = lim ——
h—0 h+2h°> h-0h(1+2h)
RHL= fim —* = jjm —— 0*"
x>0 |x| +2x° h-0|0+ h|+2(0+ h)
. . h
= lim = lim =1
h—0 h+2h° h-0h(1+ 2h)
and f(0) = k
Since, LHL = RHL for any value of k.

Hence, f(x)is discontinuous at x = Oregardless the choice of k.

Q. 16 Find the values of a and b such that the function f defined by

x—4 .
+a,if x< 4
v =4
f(x)=<a+b, if x=4
x—4 .
+b,if x> 4
|x — 4
is a continuous function at x = 4.
x_4+a,ifx<4
|x — 4
Sol. We have, flx)=<a+ b, ifx=4
o4 bifx>4
|x — 4
. x—4
Atx =4, LHL= Iim +a
x~>47|x—4|
4-h-4 _-h
=|lm ———+a=1m —+a
h—=0|4—h-4| h—=0 h
=-1+a
RHL= 1im =% 4 p
xa4+|x—4|
= AN=4  im Db 14
h—0 |4+ h- 4] h—=0 h
f4)=a+b=>-1+a=1+b=a+b
= -1+a=a+band1+b=a+b

b=-1and a=1
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Q. 17 If the function f(x)= i then find the points of discontinuity of

X +2

the composite function y = f{f(x)}.
1

Sol. e have, f(x) = s
= H{f(x)}
1 —
x+2 L

1 k2= (x +2)
1+2x+4 Rx + 5)

So, the function y will not be continuous at those points, where it is not defined as it is a
rational function.

Therefore, y = X2 is not defined, when2x + 5=0
Cx +5)
-5
r= =2
2

Hence, yis discontinuous at x = _?5

Q. 18 Find all points of discontinuity of the function f(t) = ; where

t2+t-2

1
. We have, f(t)= and t =
Sol =2 x—1

_ 1
1 I L
xZ +1-2x x-1) 1
1
(14 x =1+ [2(x — 17]
(x% +1-2x)

x% +1-2x

=x—2x2—2+4x
B x% +1-2x
S 2%+ bx-2
~ (x =1
_—(2x2—5x+2)
(x — 17
Tex-NE-x)
So, f(t)is discontinuous at2x —1=0 = x=1/2
and 2-x=0 = «x=2
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Q. 19 Show that the function f(x)=|sin x + cos x| is continuous at x = .

Sol. We have, flx)=|sinx + cos x|at x = &
Let g(x)=sinx + cos x
and h(x)=|x|
: hog(x) = h[g(x)]

=h(sinx + cos x)

=|sinx + cos x|
Since, g(x)=sinx + cos x is a continuous function as it is forming with addition of two
continuous functions sin x and cos x.

Also, h(x) =|x| is also a continuous function. Since, we know that composite functions of
two contmuous functions is also a continuous function.
Hence, f(x)=|sinx + cos «] is a continuous function everywhere.

So, f(x)is contmuous atx =

Q. 20 Examine the differentiability of f, where f is defined by

if0<x<?2
Fy o) dEl o if0sx<2
(x—1)x, if2<x<3

® Thinking Process
We know that, a function f is differentiable at a point a in its domain, if both Lf'(a) and

Rf'(a) are finite and equal,  where Lf'(c)=||m0f(aL)h_ﬂa) and

Rf'(C): lim f(a+h)_f(a)'
h—0 h
x[x], if 0<x<2
Sol. We have, f(x) = {(x_1)x o <x<3 atx =2.
Atx =2, LF@) = lim fe-n-re
h —0 —h
—im @-hp-h-2-12
h =0 -h
{- [a—h]=[a—1],where a is any positive number}
. @2-h-2
= lim
h -0 -h
2-h-2 . h
=i = |lm —=1
h —0 - h—0 —h
Ar@) = lim (XN =f@)
h —=0 h
— iim @+h-N@C+h-@2-1-2
h -0 h
im d+h@+h-2
h —0 h
) 2+h+2h+h? -2
T ho0 h
2
_Iimh + 3h im h(h+3):3
h —0 h —0 h

o Lf'2) = Rf'(2)
So, f(x)is not differentiable at x = 2.
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x? sinl, if x#0
Q.21 f(x)= x at x =0.

L0, if x=0
Z2sin_, ifx#0
Sol. We have, f(x) = x atx =0
0, ifx=0
For differentiability at x = 0,
x“sin—-0
LF(O)= tim =10 x
x =0 X — x -0~ x -0
(0 hP sin| — w2 sin( =}
. 0-h ) h
= |lim = lm —————~=
h -0 0-h h -0 —h
. (1 . .
_hllgw0 + hsin [Ej [sin(-0)=-sin0]
= 0 x[an oscillating number between —1and1] = 0
x“sin—-0
Rr(O) = fim & =MO x
x—-0t  x—-0 x 0" x—-0
(0 + hY? sin .
. 0+h . h®sin(1/h)
= |lim = lm ——
h -0 0+ h h -0 h
= lim hsin(1/h)
h -0

= 0 x [an oscillating number between —1 and 1] = 0
Lf'(0) = Rf'(0)
So, f(x) is differentiable at x = 0.

1+x, ifx<2
Q.22 fx)={ "N % x =2
5—x, if x>2

Sol. Weh p _1+x,ifx£2t >
ol. e have, f(x) = 57x,ifx>2a x =2.
For differentiability at x = 2,
LF@) = lim 7‘(x)—f(2)= im +x)-(1+2)
x—27 x -2 x =27 x -2
—jim 2= =8 h
h —=0 2_-_h-=-2 h -0 —h
Rf@)= lim M: lim G-%-3
x —»2F x -2 x 2" x -2
i 5-@2+h) -3
h—0 2+ h-2
. 5-2-h-3 . -
= lim lim
h—0 h—=0+ h

=—1
Lf'(2) = Rf'(2)
So, f(x)is not differentiable at x = 2.
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Q. 23 Show that f(x) =|x — 5| is continuous but not differentiable at x =5.

Sol. We have, flx)=|x — 5]

f) = —(x—-5),ifx<b
(x) = x—-5 ifx=>5

For continuity at x = 5,
LHL= lim (—x+ 5)

x—>57

=1lmI[-(5-h = lim h=
Jm, 0=+ 8] = im, =0

RHL= lim (x - 5)

x —>5%

= m (5+h-5)= im h=0
—

h -0
f(6)=56-5=0
= LHL = RHL = f(5)
Hence, f(x)is continuous at x = 5.

Now, LF(5)= lim &) =15)
x—5" x—-5

-x+5-0

x—5" x—5 -

-1

LF'(5) # RF'(5)
So, f(x) =|x — 5[ is not differentiable at x = 5.

Q. 24 A function f : R — R satisfies the equation f(x +y)= f(x)- f(y) for
all x, y € R, f(x)#0. Suppose that the function is differentiable at
x=0and f'(0) =2, then prove that f'(x) =2 f(x).

Sol. Letf:R — R satisfies the equation f (x + y) = f(x)- f(y), V x, y € R, f(x) # 0.
Let f(x) is differentiable at x = 0Oand f' (0) = 2.

= #(0) = tim ") =10)
x—0 x—-0
- o _ jim ) =1(0)
x—0 X
- 5 lim f(0+ h)— £(0)
h—0 0+ h
N 5= lim f(0)-f(h) - £(0)
h—0 h
_ o HO)[fth) = 1] _
= 2 —h|ILﬂO h [ 7(0) = f(h]...()
Also, () = h”mo (x + /;7)— f(x)
= jim 110 =160 b e + ) = ) )]
= hliLnO W = 2f(x) [using Eq. (i)]
f'(x) = 2f(x)
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Q. 25 25’

Sol. Let y = o8’
log y = log 2°°°°* = cos? x -log 2
On differentiating w.r.t. x, we get

ay _d 2
—log y.—=—1log 2-cos
o 09 ax Tax Y N
= 1.9 =log2— d (cosx)?
y dx dx
= iy & _ =log2- [2cosx]~icosx
y dx dx
=log2 -2 cosx - (—sinx)
=log2-[ - (sin2x)]
¥ =—y-log2 (sin2x)
dx
_ peos?x log 2 (sin2x)
X
Q.26 =
X
8.75 X
Sol. Let y=—5 = logy=log —%
X X
d dy d . 8
—logy-—=—1[log 8" —lo
= a9 g dx[g gx”]
1 dy d
—-——=—|x-l0g8 - 8-lo
= y a o X109 gx]

On differentiating w.r.t. x, we get

l~ﬂ=logB-1—8-l

y dx x
= 1.9 Iog8—§

y ax X

%= y(logB—ﬁj :8—8(I098—§j
dx x) «x x

Q. 27 log (x + %% +a)
Sol. et =log (x + yx° + a)
%7—xlog (x + yx° + a)

dx

- - R a
(x+,lx2+a)dx[x+ el

—7[1+%(x2 +a)yVe ~2x}

_(x+ Jx? + a)

= L 1+ x
(x +4/x° + a) Jx® +a
(Jx% +a+x) - 1

(x+Jx2+a)(x? +a) (2 +a)
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Q. 28 log[log (logx®)]
Sol. Let y =log [log (logx®)]
Y _ 9 liog (log logx®)]
dx

dx
S d (log - log x°)
loglogx® dx

L () 9 oy
loglogx® \logx® ) dx

S B -i(SIogx)— >
loglogx® logx® dx x -log (logx®) - log (x°)
Q. 29 sin/x +cos® Vx
Sol. Let y =sinvx + (cos vx

¥ _a sin(x"?) + g [cos (x"?)F
dx dx dx
—cosa’2. 942 4 pcos (x"?) g [cos (x"?)]
dx dx

_ cos (x'/2) 12 4 9 cos (x1/2){7sm( ”2).ix”2:1
2 dx

[~ 2cos (x"?)]-sinx"?- .

;
:COS&'T 2Vx

Zf [cos (Vx)— sin@x)]

Q. 30sin" (ax® +bx +c)

Sol. Let y=sin" (ax® + bx +c¢)
a_d
dx dx

=n-[sin (ax? + bx + c)]"” -di sin (ax? + bx + ¢)
X

[sin (ax® + bx + ¢)]’

=n-sin”" ™ (ax? + bx + ¢)- cos (ax? + bx +c).di(ax2 + bx +C)
x

=n-sin” " (ax? + bx + ¢)-cos (ax® + bx + ¢)- (ax + b)
=n-(ax + b)-sin” " (ax® + bx + ¢)-cos (ax? + bx + ¢)

Q. 31 cos(tan /x + 1)

Sol. Let y =cos (tan \/x + 1)
g—yficos (tan \/x + 1)=—sin (tan \/x 1)‘di(tan1/x+1)
X X

d 1/2 { d 2 }
=—sin(tanx + 1)- -sec? +1.-— - —(tanx) =sec“ x
dx dx( )
=—sin(tan Jx + 1)- (sec \/x + 1)+ = (x + 1) 1/2-i(3c+1)
2 dx

2
2\/7 -sin(tany/x + 1)-sec” (yJx + 1)
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Q. 32 sinx? +sin? x +sin’ (x?)

Sol. Let y =sinx?® + sin® x + sin (x?)
¥ _9 g (%) + g (sinx)? + 9 (sinx?y?
dx dx dx dx
2 d 2 . d .2 d . 2
=C0S (x°)—(x°) + 2 sinx- — sinx + 2 sinx“ - — sinx
dx dx dx
=cos x%2x + 2 -sinx - cos x + 2 sin x? cos x? - dix2
X
=2x cos (x)° + 2-sinx-cos x + 2 sinx? - cosx? - 2x

2

=2xcos (x)° + sin2x +sin2 (x)°-2 x

=2xcos (x2) + 2x -sin2 (x%) + sin2 x

Q. 33sin!

1
Ax+1

Sol. Let y=sin"
Jx+ 1

1/2 B
:(’C%.(_lj(x+1)f3/2:71. L
x 2 2Ax \x+1

Q. 34 (sin x)*~

Sol. Let y = (sinx)**
= logy = log(sinx)°* = cosxlog sinx
glogy~ ¥_9 (cosx - logsinx)
ay dx d
1 dy d ) . d
= —.—— =Cc0sx - — log sinx + log sinx - —cosx
y dx dx dx
1 d . . .
=C0Sx - —— - — sinx + log sinx - (— sinx)
sinx dx
. . cosx
=cot x - cosx —log (sinx) - sinx { cotx = — }
sinx
2
L/l = [CO,S Y sinx- log (sinx)}
dx sinx

2
. cos“x . .
=sinx®%**| == —sinx - log (sinx)
sinx
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Q. 35sin™ x-cos" x

Sol. Let y=sin"x-cos” x
@ _d
dx dx

= (sinx)” ~i(cosx)” + (cosx)” - g (sinx)”
dx

[(sinx)™ - (cosx)"]

) 4 d ) 4o d
= (sinx)" -n (cosx)"”" - Cosx + (cosx)" m (sinx)"™" - = sinx
x
= (sinx)” - n(cosx)"" (—sinx) + (cosx)" -m (sinx)" ' cosx
=-nsin™x-cos" " x-(sinx)+ mcos” x-sin™ " x-cosx

N 1 n
+m-sin” x. — -cos” x- cosx
cosx sinx

=—n-sin”x-cos” x-tanx + msin™ x - cos” x - cotx
=sinx-cos” x [~ ntanx + mcotx]

=—n-sin”x-sinx -cos” x-

Q. 36 (x +1)%(x +2)*(x +3)"

Sol. Let y=(c+ 1% (x+27>%x+ 3)*
: log y =log {(x + 1 (x +2)°(x + 3)*}
=log (x + 1% + log(x + 2)° + log (x + 3)*

d dy d d d
and —logy-—=—[2l0 + 1) ]+ — [3lo +2)]+ —[4lo +3
& 9y o dx[ gx+1] dx[ g (x +2)] dx[ g (x + 3)]
1_%2 2 -i(x+1)+3- -i(x+2)
y dx (x+1) dx (x+2) d
1 d

2 3 4
= + +
x+1 x+2 x+3_

ay 2 3 4
=y + +
dx (x+1) x+2) (x+73)
2 3 4
+ +
Lx+1) (x+2) (x+3)

=@+ (x+2)° (x+3)?*

=@+ N2 (x+2° (x+23)?*
2 (x +2)( x+3)+3(x+1)(x+3)+4(x+1)(x+2)}

x+N(x+2)(x+ 3
7(x+1) (x+2)° (x + 3)*
(x+N(x+2)(x+ 3
2 (x% + 5x + 6)+ 3(x2 + 4x + 3) + 4 (x + 3x + 2)]
=+ N(x+27° (x+3°
Px® +10x + 12 + 3x% + 12x + 9+ 42 + 12x + 8]
=(x+ 1) (x + 2 (x + 3)° [9x? + 34x + 29]
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Q. 37 cos_‘l w , _E< x< E
J2 4 4

sinx + cosx

. Let =cos | T2 =27

Sol y=cos! (SE105% )

dy _ icos” [sinx + cosxj
dx dx V2
_ -1 d (sinx + cosx]
1o [sinx + cosxj2 dx V2
NS
i(cosx):f !
dx 1-x?

1 1
\/4 _ (sin®x + cos® x + 2 sinx - cosx) V2
2

CoSx —sinx)

L
T [-sin2x 2

[~ 1-sin2x = (cosx —sinx)? =cos® x + sin® x —2sinx cosx]
_ —1(cosx —sinx)

(cosx —sinx)

(cosx —sinx)
4 [1—=cosx =& T
Q.38tan™" |- —%, —Z<cx< =
1+cosx 4 4
Sol. Let y=tan™ 1-cosx
1+ cosx
%:itan" 1-cosx
dx dx 1+ cosx
1 d [1-cosx "2 d =
= = w——(tan” x) = 5
1—cosx\? dx [1+cosx dx 1+ x
1+,)| ——
(1+cosx)
-1/2
3 1 1| 1-cosx d [1-cosx
q, 17COSX "2 |1+ cosx “dx |1+ cosx
1+ cosx
-1/2
B 1 11| (1—cosx) ) (1-cosx)
1+cosx+1-cosx "2 | (1+ cosx) (1-cosx)
1+ cosx
.(1+cosx)~sinx+(1—Cosx)~sinx
(1+ cosx)?
-1/2
_ (1+cosx) 1 (1-cosx)? sinx (1+ cosx + 1—cos x)
2 2| (1-cos®x) (1+ cos x)°

—1/2
(1+ cosx) 1 {(1 —cosx)z} {sinx (1+cosx + 1 —cos;c)}
2 2

2| (1-cos?x) (1+cosx)?
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_(1+cosx) 1 {(1 —cos x)zr/2 2sinx
T2 2| sinx (11 cos x)
_(1+cosx) 1 sin x 2sinx
T2 2 (1—cosx) (1+cosx)f
2sin® x 1 sin’x

T 4(+cosx)(1-cosx) 2 (1-cosix)
_1sin®x 1

T2 sinPx 2
Alternate Method

Let y= ’[an“[1 Hzosx]
1+ cosx

1-14+2sin? >
2

=tan”' { cosx :1—2sin2g :200523—1}

142c082 ¥ 1
2

= tan‘(tanfj _x
2 2

On differentiating w.r.t. x, we get
dy 1

dx 2

Q. 39 tan" (sec x +tan x), _—:< x< %

Sol. Let y=tan" (secx + tanx)
dy d

=~ tan' (secx + tanx)
dx dx
= ! - 9 (secx + tanx) [ i(tan’Uc): 2}
1+ (sec x + tanx)~ dx dx 1+«

-[secx- tanx + sec? x]

1+ sec? x + tan® x + 2sec x - tanx

1
= -sec x- (secx + tanx)

(sec? x + sec? x + 2sec x - tan x)
1

" 2sec x (tan x + sec x)

y
-Sec x (secx + tanx) = )

4(acosx—-bsinx) —x o a

Q. 40tan™ —~ |, —<x<-—and ~tanx> -1
bcosx +asinx) 2 2 b

Sol. Let y = tan™” acosx —bsinx

* bcos x + asinx

acosx bsinx

_ a
tan bcosx bcosx | tan 'S tan x
B boosx+ asinx | 14 % tanx
bcosx bcosx b
—tan”' 2 _tan ' tanx ctan ' x —tany=tan" | XY
b 1+ ay
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a
=tan™ T

& _9 (tan‘1 gj _a (x)
dx dx b dx

23

=—1

Q. 41 sec™ _ 1 lo<x<k
4x3 —3x V2

Sol. Let y=sec” [4x31_3x] ()

On putting x = cos 0in Eq. (i), we get

]

»
=sec ' — ——

/ 4c0s® 0 - 3cos 0

=sec”

cos 30
=sec™' (sec 30)=30
=3cos ' x

dy d

L -~ (3cos'x)
dx dx
-1

- J1 -2

Q.42tan_1 7361 — _—1 f<i
3 a 43

— 3ax?
3a° x —x°
Sol. Let =tan | =~
Y a® - 3ax?

[ 6 =cos ' x]

Put x=atan® = O=tan 'L
a

y=tan’ 3tan 6 —tan® 0 '-tan39—3tane_tan36
1-3tan” 0 ' 1-3tan’ 0

=tan”' (tan36) =360
- 3tan ' ¥ { 0=tan"’ f}
a a

%ZSE tan_1£:3. ! i(f)
dx dx a x° | dx
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Q. 43 tan™ %/1+x2 +\/1—x2_’ ~1<x<1,x#0
) L\/1+x2—\/1—x2J’ ’
 tan! J1+ %2 +\/ﬁ
,/1+x —J1-x°

Put x% =cos2 0
J1+cos20+ 1-cos20
+c0s20—,/1-cos2 0

=tan” (
[\/1+2003 01+ 1-1+ 2sin? e}

Sol. Let

\/1+2cos 01— \/171+2S|n 0
J2cos 0+ +2 sin GJ art {\E (cos 0 + sin O)}

V2 cos 6 —+/2sin0 V2 (cos 6 —sin 0)
cose+sme A cos 0
cos 0
4 (1+tan®
=tan" | ——
1-tan 6
=tan"' tan (E+ ej tan(a+ b)= 2nartanb
4 1-tana-tanb
ST 0= D oogt ['.'2(9:003‘1x2:>9=1cos‘1x2}
4 2 2
A9 (1), & (1o )
dx dx \ 4 dx \2
_O+1, 1 'ixz—l. -2x B —X
2 et ot T2 i e

.. d ) . .
Find d—y of each of the functions expressed in parametric form.
X

1 1
Q.44x=t+-,y=t—-
t t
1 1
Sol. x:t+tfand y=t--
at dt t at dt t
= CL’C=1+(—1)r2 and %=1—(—1)r2
at dt
= d—x:1fi2 and %:1+i2
at t at t
2 2
- di:t -1 and %:t + 1
at t2 at t°

dy dy/dt t?+1/t7 %+ 1

dx dx/dt t2—1/t2 2 —1
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Sol. x=e’ [9+%) andy=e™ (9—%)
|

2 2 2 _n3
e ® 0 :1_9 1 e ® 0° + 1 29 + 06 (i)
0 0 0

o0 02 +1-06°+0
dy _dy/de _ 0°
dx dx/d® (6 -1+0%+0
e 762
03 2
:ege( 0%+ 0 +e+1J

0%+ 0% +0-1

Q. 46 x =3cos0 —2cos® 0, y =3sin® —2sin> 0

Sol. - x =3cos0 -2 cos’®Hand y = 3sin 0 — 2sin® 0
d—xzi(Scos 6)—i(2csos3 0)
do  do do
=3.(—sin0)—2-3cos? 0-L . cos 0
ao

=-3sin0+ 6cos® Bsino
dy o d

and — =3c0os A-2-3sin“ 6-—-sin 0
do do

=3c0s 0 - 65sin? 0-cos 0
dy dy/d0  3cos @ -6sin’ Ocos 0
dx  dx/d® —3sin®+ 60os20sin O
_ 3cos O(1-2sin” 0) o
3sin 0 (—1+2cos? 6) cos2 0

Now,
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. 2 2
Q.47smx:7tz,tany: tz
1+t 1-t
Sol. - sinx == 0
2t

and tany =

d . dx df{ 2t
dx dt at [1+1¢2

2, d d 2
(1+1%) @)@ 1+

.. (i)

= COsSxy — = 55
at (+1t2)
2(+t?) 202t 2427 -4
(1+1t2y (+1t2y
dx  2(1-t3) A
= - Y= .
dt  (1+t2)P cosx
dx  2(1-t?) 1 2(1-t?) 1
= at (d+127 e (+127 2
\/1—sm x ; ot
1412
= ox _ 2(1_” (+ 2) 22 ...(iii)
at (1+1‘ (1- 1+t
Also, 9 any Y- i
dy at
d 2
1-t2) —2t-— (1t
sec? % ( d dt( :
y 2\2
at 1-t2)

dy 2-2t°+ 4% 1

dt (1-t22  sec?y
201+ t7) 1 _2(1+1t?) 1
T-t22 (1+tady) (11272 4t?

C2(1+t?) (1-t7P 2
TA—t22 (1+t3F 1+t2
dy dy/dt  2/1+t?
dx dx/dt 2/1+t%

(V)

[from Egs. (iii) and (iv)]

Q 48 » 1+logt y=3+2tlogt
t2

Sol. - e +t|§>gf and y= w

> d d >
dx t.a(1+logt)—(1+logt).at
dt (%)
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t2.1—(1+|ogt).2t
t t -

(1+logt)-2t
- t4 - t4
t —-1-2logt .
= sl1-2(1+logt)= 5= 9 )
d d
t.— B8+ 2logt)-(8+2logt). —t
o oy _ prl gt)—( o) 4
at t2

t-2~;—(3+2logt)-1

= -
_2-3-2logt -1-2logt .
- t2 I -

dy dy/dt _—1-2logt /t? _t

dx dx/dt -1-2logt/t®

Q. 49 If x =e®?% and y =%, then prove that dy __ylogx

dx xlog y
sol x :ec082i and y=e sin 2t
di — gecos 2t _ gcos 2t g cos 2t
at adt dt
. d
—e®s2l . (—sin2t). — (2t
( ) p @t)
9% _ _p g2t oy .0
at
and dy _d gsnat _gsinat, 9 oo
at dt
_en? gosot. Loy
_ at
=2 SN2l cos 2t (i)
dy dy/dt  2e"* .cos2t
dx dx/dt —2e° % .sin2t
_ e . cos 2t (i
e®% 2 sin 2t
We know that, logx =cos2t -log e = cos2t (iv)
and logy =sin2t -loge = sin2t (V)
ay _ —ylog x
dx «xlogy

[using Egs. (iv) and (v) in Eq. (i) and x = e®%2! y =sN2!]

Hence proved.

Q.50 If x =asin2t (1+cos2t)and y =b cos2 t (1 —cos2 t), then show that

Sol. - =asin2t (1+ cos2t)and y = b cos 2t(1—cos 2t)

=a [sinZt . d (1+cos2t)+ (1+ cosZt)-gsinZt}
at at
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and

(

=a {sinZt - (—=sin2t)- i2t + (14 cos2t)-cos 2t - i.2t:|
at at

=—2asin? 2t + 2acos 2t (1 + cos 2t)

Z—f: —2a[sin® 2t —cos 2t (1 + cos 2t)] .0
d—y: b {cos 2t - g (1-cos2t)+ (1-cos2t)- ioos 21‘}
at at at
. d . d
=b|cos2t-(sin2t)—2t + (1-cos2t)(-sin2t)- — 2t
at at
=b[2sin2t-cos2t +2 (1-cos2t)(—sin2t)]
=2b[sin2t -cos2t —(1—cos2t)sin2t] (i)
ady _dy/dt —2b[-sin2t-cos2t + (1-cos2t)sin2t]
dx dx/dt —2a[sin? 2t —cos 2t (1+ cos 2t)]
—sin “cos © + (1 —Cos Ej sin =~
gj =9 2 2 2 2
0 )iaws @ sinzﬁ—cosﬁ(wcosﬁ)
2 2 2
_b 0+ {.‘sinﬁzmndcosﬁzo}
a (1-0) 2 2
:9 Hence proved.
a

Q. 51 If x =3sin t —sin 3t, y =3 cost — cos 3t, then ﬁndd—yattzﬁ.

Sol. -

and

Get More Learning Materials Here : & m

(

ay
dx

dx
x =3sint —sin 3t and y = 3cost —cos3t
dx d

— =3-—sint —gsinSt
at at at

:SCost—cosSt~%3t:SCost—30033t ()
d—y:3~gcost —goos3t
at at at
= - 3sint +Sil’13t-g3l‘

at

%=3sin31—3tsint (D)}
at

dy _dy/dt _ 3(sin3t -sint)
dx dx/df 3(cost —cos 3t)

. 3n . T
sin— —sin —
3

j _ 3 :O—\/§/2

t=m3 T_ T L
(cos 3 cos 3 3) 5 (G))

_—3/2 /3 _

3/2 3 43
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Q. 52 Differentiate —— w.r.t. sin x.
Sin x
X .
Sol. Let U=——andv =sinx
sinx
) d ad .
sinx- —x — x-— Sinx
adu _ dx dx
dx (sinx)?
_sinx — x Ccos x
sin® x
av d .
and — = —sinx =Ccosx
dx dx
du  du/dx sinx —xcosx/sin’x
adv adv/dx cosx
sinx — x cos x
_sinx -xcosx _ Ccos x
sin® x cos x sin® x cos x
cos x

[dividing by cos x in both numerator and denominator]

_tanx -«

sin® x

1+x% -1
Q. 53 Differentiate tan L

X
Y1+ 22 -1
Sol. Let v=tan' X Tl andy = tan'x
X
x =tan 0
- P J1+tan® 6 -1

B tan 6

_ tan! (sec 6 —1)cos 0
sin o

—tan! 1—-cos 0
- sin 0

4| 1=1+2sin® 0/2
2sin0/2-cos 0/2

=tan™' {tang}
2

O L

2 2
au 1d . 4 1 A
— =——tan 'x = —
dx 2 dx 2 1442

and P _9 o= 12

dx dx 1+ x
du _du/dx
dv  adv/dx

_1/2(0+ %) (1+x?)

1
1/(1+x2) 20+x2) 2
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Find &y when x and y are connected by the relation given.
x

Q. 54sin(xy)+;=x2 —y

Sol. We have, siny)+ X =x2—y
y
On differentiating both sides w.r.t. x, we get
d , . d (x d -, d
—(sinxy)+ — | — |=—x“ ——V
x dx \y) dx dx
y x d y
d de ~ " dx ady
= COS xy- — + 2
W (xy) 7 x-
dy
y—x—_=
= oosxy[x iy+y—x}+72dx:2x—ﬂ
d dx % dx
= xcosxydy+ycosxy+l2—£% 2x—ﬂ
dx V2 Y2 dx dx
= dy[xcosxy—2+1}:2x—ycosxy—y2
dx y y
dy |2xy-y’cosxy-1 e
dx y xy?cosxy—x+

_(xy-y?cosxy-1)y
(xy? cosxy—x + y°)

Q. 55 sec (x +y) = xy

Sol. We have,sec (x + y)=xy
On differentiating both sides w.r.t. x, we get

d
I sec (x + y)=——(x)
X X
d d
x+y):x~—y+ y-—x
X
= sec(x+y)-tan(x+y)-(1+dyj—xg y
dx ax
y
X

= sec(x+y)tan(x+y)+sec(x+y)~tan(x+y).d——xd—+y
X

= sec(x+y)~tan(x+y)-:—x(

= g—y[sec (x+ y)-tan(x + y)—x]=y—sec (x + y)-tan (x + y)
x

g_ y—sec(x + y)-tan(x + y)
dx sec(x+ y)-tan(x + y)—
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Q.56tan™" (x* + y?)=a

Sol. Wehave, tan™! (x2 + y?)=a
On differentiating both sides w.r.t. x, we get

—tan (x% + y?) =

X X
1 2, .2
= x° + =0
1+ (%2 + y?)? dx( )
= 2x+iy2~ﬂ:
ay dx
= 2y~ﬂ—72x
dx
&y _ex_—x
dx 2y y
Q.57 (x* + y?)? =
Sol. We have, (x% + y?)? = ay
On differentiating both sides w.r.t. x, we get
d 2 20_d
—_ + -
&Yy =g @
= 2(x2+y2)-5—x(x2+y2)=x~diy+y-5—xx
= 2(x2+y)(2x+2ydyj—xg+y
a. dx
= ooxoxso? oy Y iooniop oy ¥ Yy,
dx dx dx
= Q[4x v+ 4y® —x]=y - 4x° — 4ay?
dx
dy (v -4 - 4wy°)
dx  (4x%y + 4y° - x)
dy dx
Q 58 If ax® + 2hxy +by? +2gx + 2fy +c =0, then show that =~ =1
dx dy
Sol. We have, ax® + 2hxy + by? + 2gx + 2fy +c =0 ()
On differentiating both sides w.r.t. x, we get
d o, d d d d d
— (@x“)+ — @Rhxy)+ — (by")+ — (2 +—2 c)=0
dx(X)dx(xy) dx()’)d(gx) @fy) + dx()
= Zax+2h( dy+y1)+b2ydy+29+2fdy+0 0
d d d
dy
= o [Rhx + 2by + 2f] = —2ax — 2hy — 2g
X
N ady _-2(@x+hy+g)
dx 2 (hx + by + )
_ —(ax+hy+9) 0
(hx + by + 1)
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Now, differentiating Eq. (i) w.r.t. y, we get
g(ax )+ g(2/7acy)+ i(by )+

2 2fy) + — 0
& o & ( gx)+ ( fy) dy( )=
dx dx
= a-2x-—+2h- x—y+y—x +b-2y+29g - —+2f+0 0
dy dy
= Z [Rax + 2hy + 2g 1= —2hx — 2by - 2f
y
N dx _-2(hx+by+f) —(hx+by+T) (i)
dy 2@x+hy+g) (ax+hy+g) h
dy dr _—lax+hy+g) —(hx+by+1) [using Egs. (ii) and (ii)]
dx dy (hx + by +f) (ax + hy + @)
—1=RHS Hence proved.

Q. 59 If x =e*/?, then prove that & - *=Y

dx xlogx
Sol. We have, x=eV
ix:iex/y
dx dx
= 1=ex/y.i(x/y)
dx
N _etly. Y- 1x2dy/dx}
y
= y2 =y.e™V W gty
dx
ay 2
= A e
x dx y y
dy _ye*” -y
dx x-e*
_e" -y
ex/y.f
y
x-logx

Q. 60 If y* =e¥ ~*, then prove that =

dx logy

Sol. We have, y*=e¥"*

= logy® =loge’ =%

= xlogy=y—x-log, =(y—x)

= logy = ¥ =%)

gy
X
Now, differentiating w.r.t. x, we get
oy _d y=2)

@ dxr dx x
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{ x =" =logx = f}
y

Hence proved.

[ log, =1]
.. ()
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= c——= *
y dx x2
dy
1dy (E_ )_(y_x)
N i’ A
ydx x2
2
= x—-ﬂ_xdy—x—y+x
y dx d
2
= dy[x_ J——y
dx| y
@ . _ Y
dx xzfxy x(x - )
_ Y =y
x(y-x) x x2 (Y-x)
x
2 _
_(1+logyf {,logy:y x.ogy:z_bnlogyzz}
logy x x

Hence proved.

cos x)* 2
Q. 611f y = (cos x)(cosx)( ", then show that dy__ ytanx
dx ylogcosx —1

Sol. We have, y = (cosx)** =

- y= (cos:c)y

: logy =log (cosx)y

= logy = ylog cosx

On differentiating w.r.t. x, we get
1 dy d dy
—-—=y-—Ilogcosx + logcosx-—
y dx dx dx

= 1ﬂ: Y ~icosx+logcosx~%
y dx cosx dx dx

= %F ~log cos:c} =Y tany

dx|y CoSx
ay _ —y2 tanx

dx  (1- ylog cosx)
2
= __ytanx Hence proved.
ylogcosx — 1

Q. 62 If xsin (a + y) +sina-cos(a + y) =0, then prove that
dy sin’(@+y)

dx sina

Sol. We have,
xsin(@+ y)+sina-cos(@+ y)=0

= xsin(@+ y)=—sina-cos(@+ y)

—sina-cos(a+ y)

= =
sin(a+y)
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= x = —sina-cot(a + y)
dx . 2
— =-—sina-[-cosec“(a+ y)]-—(@+ y)
dy dy
. 1
= sina-—5——1
sin“(a + y)
sin(a + y)

=—— 7 Hence proved.
sina

Q. 63 If \/1 -x% + \/1 — y% =a(x — y), then prove that ;ly =
X

Sol. We have,

Ji—x2+1—y2 =alx-y)

On putting x =sin e and y = sin B, we get

\/1 —sin®o + \/1 —sin?B = a(sin o — sin )

= cosa + CcosP = a(sin a —sin )
= 2cos PP cos @ =P :a(ZoosaJrB.sina_B)
2 2 2 2

= cos 2P _ a5in® =B

2 2
= ot =P _ g

2
= %P _ ot 'a

2
= a-p=2cot'a
= sin"'x —sin”y=2cot™'a [x =sinaand y=sinf]
On differentiating both sides w.r.t. x, we get

1 1 dy
_ 2 _0
2

J1-x2  J1—y2ax
@ ’1—y2_ 1= 2
dx l1_x2_ 1-x?

2
Q. 64 If y =tan ' x, then find ay in terms of y alone.

Hence proved.

dx?
Sol. We have, y=tan'x [on differentiating w.r.t. x]
g—y = ] ! 5 [again differentiating w.r.t. x]
x +x
d?y d _
Now, #=@(1+ x?)!
=—1(1+ x?)? i(1 + x?)
dx
3 1
(1+ 2y
—2tany 4
=——7 cy=tanT x=>tany=x
1+ tan® y)° by y=xl
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_ - 2tany

(sec®yy
=2 %M 02 y.cos?y

cosy

=—sin2y-cos®y [ sin2x = 2sinxcosx]

Verify the Rolle’s theorem for each of the functions in following questions.

Q. 65 f(x)=x(x - 1)?in [0,1]

® Thinking Process
We know that, Rolle’s theorem states that, if f be a real valued function, defined in the
closed interval [a, b], such that (i) f is continuous on [a, b]. (i) f is differentiable on ]a,
b[(ii)) f(a) = f(b)

Then, there exists a real number c in the open interval ] a b [, such that f'(c)=0". Here,
we shall verify the Rolle’s theorem for the given function.

Sol. We have, f(x) = x(x — 1)? in [0, 1].
(i) Since, f(x) = x(x — 1)? is a polynomial function.
So, it is continuous in [0, 1].

(ii) Now, f'(x) = x-j—x(x 12+ (x - 1)2(%35

=x-20 - 1)1+ (x—1?
=2x2 —2x+x% +1-2x
= 3x? — 4x + 1 which exists in (0, 1).
So, f(x)is differentiable in (0, 1).
(iii) Now, f(0) = 0and f(1) = 0= £(0) = f(1)
f satisfies the above conditions of Rolle’s theorem.
Hence, by Rolle’s theorem 3¢ e (0, 1) such that
f'c)=0
3?2 -4c+1=0
3c®-3c-c+1=0
3cc-1)-1c-1=0
Bc-Nec-1=0
c 21,1316(0, 1)
3 3
Thus, we see that there exists a real number ¢ in the open interval (0, 1).
Hence, Rolle’s theorem has been verified.

L
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Q. 66 f(x)=sin* x +cos* x in [O, 7;}

Sol. e have, f(x) = sin® x + cos* x in {o, ﬂ ()

(i) f(x)is continuous in {O, g}

[since, sin*x and cos* x are continuous functions and we know that, if g and h be

continuous functions, then (g + h) is a continuous function.]
(ii) f'(x) = 4(sinx)® - cosx + 4(cosx)® - (—sinx)

= 4sin® x-cosx — 4 sinx - cos® x

= 4sinx cosx (sin? x — cos? x) which exists in (o, gj (i)
Hence, f(x)is differentiable in (O, gj

(iii)) Also, f(0)= 0+ 1=1and f[gj =1+0=1

= f(0) = f[gj

Conditions of Rolle’s theorem are satisfied.

Hence, there exists atleast onec e (O, E) such that f(c) = 0.

4sinc cosc (sinc —cos?c) = 0

= 4sinc cosc (—cos2c¢)=0
= —2sin2c-cos2c =0
= —sindc=0
= sindc =0
= dc =1
Y
= C=—
4
and EE(O,EJ
4 2

Hence, Rolle’s theorem has been verified.

Q. 67 f(x)=log (x* +2) —log3in[-1, 1]
Sol. We have, f(x) = log (x® + 2) - log 3.

(i) Logarithmic functions are continuous in their domain.
Hence, f(x) = log (x? + 2)—log 3is continuous in [~ 1,1].

o1
(i) f1x) = 7o

2x -0

2

— 2% \which exists in (- 1, 1)
x°+2

Hence, f(x)is differentiable in (- 1, 1).
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(iii) f(=1) =log [(-1)? + 2] - log 3 =log 3 —log3 = 0 and
f(1)=log (1> + 2) —log 3=log 3 —log 3=0
= f(=1) = (1)
Conditions of Rolle’s theorem are satisfied.
Hence, there exists a real number ¢ such that

fic)=0.
= 220 =0
c +2
= c=0e(-11

Hence, Rolle’s theorem has been verified.

Q. 68 f(x)=x(x+3)e/*in[-3,0]
Sol. We have, flx) = x (x + 3)e 2

(i) f(x)is a continuous function. [since, it is a combination of polynomial functions x(x + 3)
and an exponential function e /2 which are continuous functions]

So, f(x) = x (x + 3)e™*'2 is continuous in [- 3, 0]

(ii) -~ flx) = (x° + 3x)~ie’x/2 rev2. 9 (x® + 3x)
dx dx
= (x2 + 3x)-e /2. (— %j +e72.2x + 3)
=e 2 {Zx + 37%-(362 + Sx)}

:e,x/Z |:4x + 6—362 - 3x:|
2

1
—e™2. _[-x%+ x + 6]

2
-1 —x/2 2
= —x-6
5 e [x —x — 6]
:%e’x/z [x% - 3x + 2x — 6]
= _?1 e ™2 [(x + 2) (x — 3)] which exists in (- 3, 0).
Hence, f(x) is differentiable in (- 3, 0).
(iii) - f(-3)=-3(-3+3e2=0
and f(0)=0(0+ 3)e™2=0
= f(- 3)=1(0)

Since, conditions of Rolle’s theorem are satisfied.
Hence, there exists a real number ¢ such that f(c) =0
=0

= 7%670/2 c+2) -3

= c=-2,3where -2 (-3 0)
Therefore, Rolle’s theorem has been verified.
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Q. 69 f(x) =+/4 —x? in[-2, 2]
Sol. we have, f(x) = \/7— 4 — 212
(i) f(x) = \/U is a continuous function.

[since every polynomial function is a continuous function]
Hence, f( )is continuous in [- 2, 2].

(i) f(x) = 2(4 x?y V2 (- 2x)

1

Nt ’
Hence, f(x)is differentiable in (- 2, 2).

(iii) f(-2)=/(4-4) =0and f(2)= J(4-4) =
= f-2)= f(2)
conditions of Rolle’s theorem are satisfied.

Hence, there exists a real number ¢ such that f'(c) = 0.
1

4-c?
N c=0e(-22)
Hence, Rolle’s theorem has been verified.

=-x. which exists everywhere except at x = + 2.

= —C

Q. 70 Discuss the applicability of Rolle’s theorem on the function given by
2 .
x“+1, if0<x<1
flx)= .
3-x, if1<x<2

2 .
Sol. We have, ) = {x +1if0<x <1

3—x, if1<x <2
We know that, polynomial function is everywhere continuous and differentiability.
So, f(x)is continuous and differentiable at all points except possibly at x = 1.
Now, check the differentiability at x = 1,

At x =1
LDH = fim &)=
xo>1” x—1
2
_ jim D=0+ [ f)= 22 +1, ¥ 0 <x <1]
x —>1 x =1
2
—imX -1_ im (x+ N(x-1)
x>l x—=1  x-1 x—1
=2
and RDH = fim @)= _ . B=x)f+1)
x>1" X - x 1 (x—=1)

1
Cim 3TE 2 i 22
x->1 x—1 x—=1 x—1
o LHD # RHD
So, f(x)is not differentiable at x = 1.
Hence, polle’s theorem is not applicable on the interval [0, 2].
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Q. 71 Find the points on the curve y =(cosx —1) in [0, 2r], where the
tangent is parallel to X-axis.

® Thinking Process

We know that, if f be a real valued function defined in the closed interval (a,b] such that
it follows all the three conditions of Rolle’s theorem, then f'(c)=0 shows that the
tangent to the curve at x=c has a slope 0, i.e, it is parallel to the X-axis. So, by getting
the value of ¢' we can get the required point.

Sol. The equation of the curve is y = cosx — 1.
Now, we have to find a point on the curve in [0, 27],
where the tangent is parallel to X-axis i.e., the tangent to the curve at x =c has a slope o,
wherec €] 0, 2x[.
Let us apply Rolle’s theorem to get the point.
(i) y=cosx — 1is a continuous function in [0, 2x].
[since it is @ combination of cosine function and a constant function]
(ii) y'=—sinx, which exists in (0, 2m).
Hence, y is differentiable in (0, 2n).
(iii) y (0)=cos 0—-1=0and y 2n)=cos2n —1=0,
y(0)=y@m
Since, conditions of Rolle’s theorem are satisfied.
Hence, there exists a real number ¢ such that

fic)=0
= —sinc=0
= ¢ =mnor0, where ©t €(0,2n)
= X ="

o y=cosmt—-1=-2
Hence, the required point on the curve, where the tangent drawn is parallel to the X-axis is
(m, = 2).

Q. 72 Using Rolle’s theorem, find the point on the curve
y =x (x —4), x €[0, 4], where the tangent is parallel to X-axis.
Sol. Wehave, y=x (x — 4), x €[04]
(i) yis a continuous function since x(x — 4)is a polynomial function.
Hence, y = x (x — 4)is continuous in [0, 4].
(i) y'=(x — 4)-1+ x-1=2x — 4which exists in (0,4).
Hence, y is differentiable in (0,4).
(iii) y0)=0(0-4)=0
and Y4)=4(4-4=0
= ¥(0) = y4)
Sicne, conditions of Rolle’s theorem are satisfied.
Hence, there exists a pointc such that

f(c)=0in (0,4) [ flx) =y
= 2c-4=0
= c=2
= x=2;y=2Q-4)=-4

Thus, 2, — 4)is the point on the curve at which the tangent drawn is parallel to X-axis.
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Verify mean value theorem for each of the functions.

_ 1
Q. 8 flx)=

in [1, 4]

® Thinking Process

We know that, mean value theorem states that, if f be a real function such that
(i) f (%) is continuous on [a,b]
(ii) f(x)is differentiable on Ja,b[

Then, there exists a real number c €] ab[ such that f’(c):M, thus we can
verify it for given function. -
Sol. e have, f(x) = . ! in (1, 4]
(i) f(x)is continuous in [1, 4].
Also, at x = % f(x)is discontinuous.
Hence, f(x)is continuous in [1, 4].
4
i) f(x) = — ————, which exists in (1, 4).
i) ()= - (1,4)
Since, conditions of mean value theorem are satisfied.
Hence, there exists a real numberc €] 1, 4 [ such that
1oy = TA= 1)
4 -1
LI
- -4 :16—1 4—1:15 3
(4c — 1) 41 3
-4 1-5 -4
= - - v__
(4c-17 45 45
= (4c =1 =45
= 4c -1=+ 35
= c= 3€+ ! e(14) [neglecting (- ve) value]

Hence, mean value theorem has been verified.

Q.74 f(x)=x*-2x* —x+3in [0, 1]
Sol. We have, f(x)=x® —2x2 —x + 3in [0, 1]
(i) Since, f(x)is a polynomial function.
Hence, f(x)is continuous in [0, 1].
(i) f(x) = 3x? — 4x — 1, which exists in (0,1).
Hence, f(x)is differentiable in (0,1).

Since, conditions of mean value theorem are satisfied.

Therefore, by mean value theorem 3¢ € (01), such that
(1) - 1(0)
flc)= ——~
© 1-0
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M-2-1+3]-[0+ 3]

= 3c? —4c-1=
1-0

= 302—40—1=_1—2

= 3c?-4c+1=0

= 3? -3 -c+1=0

= 3cc-1)-1c-1)=0

= Bc-Nec-1)=0

= c=1/3,1,where%e(0,1)

Hence, the mean value theorem has been verified.

Q. 75 f(x) =sinx —sin2x in [0, 7]

Sol. We have, f(x) = sinx — sin2x in [0,x]
(i) Since, we know that sine functions are continuous functions hence f(x) = sinx — sin2x is
a continuous function in [0,x].
(i) f(x)=cosx —cos2x -2 =cosx — 2 cos2x, which exists in (0, «).
So, f(x)is differentiable in (0, ). Conditions of mean value theorem are satisfied.

Hence, 3¢ € (0, n)such that, f(c) = L_g(o)
T
sint —sin2xt —sin0+sin2-0
= COSC —2C0s 2C =
n—0
0
= 2Cc0s2C —CcoscC = —
T
= 2.(2cos?’c—1)—cosc =0
= 4cos’c—-2-cosc=0
= 4cos’c -cosc-2=0
1+ /1 2
= cosc = 3 :1i\/@
8 8
4 (1+£+/33
¢ =cos
8
+
Also, cos™ [1 - :ﬁj €0 m

Hence, mean value theorem has been verified.

Q. 76 f(x) =+/25—x% in [1, 5]

Sol. We have, f(x) = 425 - x2 in [1, 5]
(i) Since, f(x) = (25 — x%)"? where 25— x> >0
= x?<+5= -5<x <5
Hence, f(x)is continuous in [1, 5].

(ii) f(x) = 1 @5 x2) "2 . —2x=——% _ which exists in (1, 5).
2 25— x?

Hence, f(x)is differentiable in (1, 5).
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Since, conditions of mean value theorem are satisfied.
By mean value theorem 3¢ < (1, 5) such that

f,(c):f(5)—f(1):> ¢ _0-+24
5-1 \/25_02 4
c? 24
= = —
25-¢? 16
= 16¢2 = 600 — 24 ¢?
= ST
40
- c=++/15
Also, c=+15¢(15)

Hence, the mean value theorem has been verified.

Q. 77 Find a point on the curve y = (x — 3)?, where the tangent is parallel to
the chord joining the points (3, 0) and (4, 1).
@ Thinking Process

We know that, if y= f(x) be a function defined on [a, b] which follows mean value
theorem, then there exists atleast one point c in (g, b) such that the tangent at the point
lc, f(¢)) is parallel to the secant joining the points [a, f(a)] and b, f (b)]. So, we shall use
this concept.

Sol. We have, y = (x — 3)?, which is continuous in x, = 3and x, = 4i.e., [3, 4].
Also, y'=2(x — 3)- 1=2(x — 3)which exists in (3, 4).
Hence, by mean value theorem there exists a point on the curve at which
tangent drawn is parallel to the chord joining the points (3,0) and (4,1).

Thus, ey = "W =19)
4-3
2 _ e\
= 2c-3=U"Y ~B=3
4-3
= 2c-6=1"9_ c_7
1 2
2 2
Forx:Z, y:(z_g) :(lj :l
2 2 2 4

So, g %) is the point on the curve at which tangent drawn is parallel to the chord joining

the points (3, 0) and (4, 1).

Q. 78 Using mean value theorem, prove that there is a point on the curve
y =2x* —5x +3 between the points A(1, 0) and B(2, 1), where

tangent is parallel to the chord AB. Also, find that point.

Sol. We have, y =2x2 — 5x + 3, which is continuous in [1, 2] as it is a polynomial function.

Also, y'= 4x — 5, which exists in (1, 2).
By mean value theorem, 3ce (1, 2) at which drawn tangent is parallel to the chord AB,
where A and B are (1, 0) and (2,1), respectively.
f2) - (1)
flc)=——+
c) -
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(8-10+3)-(2 -5+ 3)

= 4c-56= ]
= 4c-5=1
C:§:§e(‘l,2)
4 2
2
Forx:g, y=2(§j —5(§j+3
2 2 2
_ xg—E+3:9_15+6:0
4 2 2

Hence, (g Oj is the point on the curve y = 2x> — 5x + 3 between the points A (1, 0) and

B (2, 1), where tangent is parallel to the chord AB.

Long Answer Type Questions

2 .
Q. 79 Find the values of p and g, so that f (x):{x t3x+pifas<l is

gx +2, if x>1
differentiable at x = 1.
2 .
Sol. We have, f (x) = x +3x+p’llfxg1is differentiable at x = 1.
gx + 2, if x>1
Lf ()= lim M
xo1” x—1
2
~ im (x“+3x+p-01+3+p)
x =17 x—1
— lim [(1—h)2+3(1—h)+p]—[1+3+,o]
T o0 A-h)-1
o [1+h? —2h+3-3h+ p]-[4+ p]
T hoo —h
2
i P =8h+pra-a-pl_ . hih-5]
h—0 - h h—>0 —h

= lim ~[n-5]=5

f(x)—f(1): Gx+2)-(1+ 3+ p)

lim

Rff()= lim

x>t X — x> x—1
i GO+ +2]- (@4 p)
h—0 1+h-1
_ m Gtgh+2-4-p] . gh+@-2-p)
h—0 h h—0 h
= q-2-p=0=p-g=-2 .. ()
= lim C’thO: [for existing the limit]
h—0 h
If Li'(1) = Rf’(1), then 5=q
= p-5=-2=>p=3
: p=3andqg =5
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Q.801fx™-y" =(x+y)™ ", prove that
2

. d .. d
G) ¥ =Y and i) Y =0
dx x dx’
Sol. We have, Ty =+ )" ()
(i) Differentiating Eq. (i) w.r.t. x, we get
M o.moon 7& m+ n
dx(x y )—dx(x+y)
= xm-gyyn-g—iJryn-:—xxm:(m+n)(x+y)m*”’1£(x+y)
= ™oy 1 +y mx™ V= (m+n)(x+ y" " (1+g—yj
X
= Z—Q)Z[x’”nyn’1 —m+n)- @+ YT N=mEn) @+ Yy -y ma™
N4 m
= g—y (nx™y" ™ — (m+ A + YT = (M n)- (a4 et - YT
X X
m+n)@+y)" " y" Ty mx”
dy _ (x +y) x
- m
L T L
y (x+y)
xMm+n@+y) " " —@x+y)-y "y mx”
_ (x+ y)x
(x+nay —ym+n)x+ "
(x+y)-y
xm+n)-x"-y" —m@x+y)y £7
Ty i’gﬂc+)}//)m+n) moyn [+ y)" " =y
(x+y)-y
X"y " Imx + nx—mx —myl-(x + y) y
x™y"nx+ny—-my—nyl-(x+y)-x
=% (i)
Hence proved.
(ii) Further, differentiating Eq. (ii) i.e., g—y = Xon both the sides w.r.t. x, we get
X X
dy
d2y _ X dx y
dx? x?
Y_
:x x {ﬂzl}
x2 dx x
=0 Hence proved.
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Q. 81 If x =sint and y =sin pt, then prove that

d? d
(1—x2)—y —x—y+p2y =0.

dx? dx

Sol. We have, x =sint and y = sin pt

ax _ cost and & _ cos pt-p

t at

dy _dy/dt _ p-cospt 0

dx dx/dt  cost

Again, differentiating both sides w.r.t. x, we get

=

2 Ccos t-i(p-oospt)d—t—pcospt—costd—t
a7y _ at dx at dx
dx? cos? t
. . at
[cost- p-(—sinpt)- p— pcospt-(— smz‘)]d—
_ X
cos?t
[- o? sinpt -cost + psint- cospt]- ——
B cost
cos®t
d?y - p’sinpt-cost + pcospt -sint i}
= —5 = 3 ()]
dx cos’t
Since, we have to prove
d’y dy
1-x?) =L —x L+ pPy=0
(-x )dx2 xRy
2 . .
. - t-cost + pcospt -sint]
LHS = (1 — sin?¢) L= PSP
( ) cos’t
_sing. PEOSPL | o?sinpt

— pcospt -sin t-cos’t + p’sinpt - cos®t

1 [(1-sin®t)(- p® sinpt -cost + pcos pt -sint)
~ cos®t

2 o 3 : 2
1 — p°sinpt-cos”t + pcospt -sint - cost .
= { prsinp peosp }[ﬂ—smzt = cos?t]

~cos®t |- pcospt -sint - cos?t + psinpt - cos’t
"~ cost
=0 Hence proved.
. dy . T |
Q. 82 Find the value of -2 ,if y =x + .
dx 2
x% +1
Sol. We have, y=x@r 4 5 0)
x% +1
Taking u=x""%andv = >

log u = tanx logx .. (i)
2

> x°+1

ve = (i

5 (iii)

and
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On, differentiating Eq. (i) w.r.t. x, we get

1 du 1 2
—.— =tanx-— + logx-sec”x
u dx x
du {tanx P }
= —=u + logx-sec”x
dx x
=yl [taﬂ + Iogx~se02x} (V)
X
Also, differentiating Eq. (iii) w.r.t. x, we get
ov. TV 1oy Vo 1y
dx 2 dx 4v
dv 1 x-2
= diz B 2% = >
x 4.\/x +1 2x? + 1
2
- av_  x (V)
dx 2 (x% +1)
Now, y=u+vVv
dy _du _ av
dx dx dx
= xlanx {taﬂ+logx-seczx}+L
x 2(x% + 1)

Objective Type Questions

2
Q. 83 If f(x)=2x and g(x) = x? +1, then which of the following can be a

discontinuous function?

@ f(x) + g (x) (b) f(x) — g(x)
(©) f(x)- g (%) (d) g
f(x)

Sol. (d) We know that, if f and g be continuous functions, then
(a) f+ g is continuous (b) f — g is continuous.

(c) fg is continuous (d) — is continuous at these points, where g(x) # 0.
g
ﬁ +1 2
Here, M -2 T 2
f(x) 2x 4x
which is discontinuous at x = 0.
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a2
Q. 84 The function f(x) = ——*_is
4y — x°

discontinuous at only one point
discontinuous at exactly two points
discontinuous at exactly three points
None of the above

)

(

(b
(c
(

=

d

= <

B 4 - x? 3 (4 - x2)
Sol. (c¢) We have, flx) = 2 x 4=

(4-x2) B 4 x?

Tx@?-x?) xR+ x)@-x)

Clearly, f(x)is discontinuous at exactly three points x = 0, x = -2 and x = 2.

Q. 85 The set of points where the function f given by f(x) =|2x — 1| sin x is
differentiable is

1
R b)R—-| =
(@ (b) (2)

(€) (0, ) (d) None of these
Sol. (b)) We have, f(x)=]2x — 1] sinx
Atx = % f(x) is not differentiable.

Hence, f(x) is differentiable in R — (1j

and Lf(1): lim W

1
2(%—/7) —sin(%—hj
= lim
h—0 —-h
|0 —2h|-sin (i - h) 1
= lim 2 =-2sin (fj
h—0 - h 2

()iLfQ

So, f(x)is not differentiable at x =
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Q. 86 The function f(x) =cot x is discontinuous on the set

@{x=nn:neZ} b){x=2nn:neZ}
(c){x=(2n+1)§;neZ} (d){x=nz—n;neZ}

Sol. (@) We know that, f(x) = cot x is continuous inR —{nn:neZ}.
Since, f(x)=cotx = Z?;; [since,sinx =0atnn,neZ]

Hence, f(x) = cot x is discontinuous on the set{x = nn : n e Z}.

Q. 87 The function f(x) =e®l is
(a) continuous everywhere but not differentiable at x =0
(b) continuous and differentiable everywhere
(c) not continuous atx =0
(d) None of the above
Sol. (a) Letu (x)=|« andv (x)=€"
f(x) = vou(x) = v[u (x)]
=v]x|=el"
Since, u(x)and v (x) are both continuous functions.

So, f(x)is also continuous function butu (x) = | x| is not differentiable at x = 0, whereas
v(x) =e” is differentiable at everywhere.

Hence, f(x)is continuous everywhere but not differentiable at x = 0.

Q. 88 If f(x) =7 sin 1 where x # 0, then the value of the function f at
x

x =0, so that the function is continuous at x =0, is
(@0 (b) =1
(€)1 (d) None of these

Sol. (@) -+ f(x)=x2sin (%) where x = 0

Hence, value of the function f at x = 0, so that it is continuous at x = 0is 0.

mx+1, ifx<’
Q.891f f (x) = 2 is continuous at x = =, then
sinx +n, if x> % 2

@m=1,n=0 (b)mz’;lﬂ
mT Y
(Qn=— (dym=n==
2 2
mx + 1, if x SE
Sol. (c) We have, f(x) = is continuous at x = g

(sinx + n), if x >g
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k4

LHL=fim (mx+1):h|im0[m(g—hj+1}:%“
= -

x—>?
and RHL= lim (sinx +n)= Iim [sin [£+ h)+n}
xt h—0 2
X = —
2
= lim cosh+n=1+n
h—>0
LHL = RHL {to be continuous at x = ﬂ
= m~E+1:n+1
2
T
n=m-—
2

Q. 90 If f(x) =|sin x|, then

(a) f is everywhere differentiable
(b) f is everywhere continuous but not differentiable at x =nn,n € Z
(c) fis everywhere continuous but not differentiable at x = (2n + 1) kid ,ne”Z
(d) None of the above 2
Sol. (b) We have, f(a) =|sin x|
Let f(x) = vou (x) = v [u(x)] [where,u (x) =sinx and v (x) =] x|]
=V (sinx) =|sin x|
where, u(x)and v (x) are both continuous.
Hence, f(x) = vo u(x)is also a continuous function but v(x)is not differentiable at x = 0.
So, f(x)is not differentiable wheresinx =0=>x=nmn, neZ
Hence, f(x)is continuous everywhere but not differentiable at x = nx, n e Z.

1-x? :
Q. 91 If y =log x ,thend—yls equal to
1+ x° dx
453 - 4x 1 —4x°
(a)1—x4 (b)1—x4 (C)4—x4 (d)1—x4
2
Sol. (b) We have, y =log [1 - sz
1+ «x
d 1 d[(1-a°
dx  1—x2 dx |1+ x2
1+ x°2
_(+x%) (1+ %) (-2x) - (1-2%)-2x
(-2 A+ x2)
=72x[1+x2+17x2] — 4dx

(A—x2)-(+x2) 1-x°
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Q. 92 If y = /sinx + y, then Zy is equal to
X

Cos X Ccos X sinx
a (©
2y —1 1-2y 1-2y
Sol. (a) - y = (sinx + y )"
% = % (sinx + yy V2. % (sinx + y)
R SRS N )
dx 2 (sinx + y)"? dx
= 22 _ 1 (cosx + %]
dx 2y dx
- ay 1 1 _ Cosx
dx 2y 2y

dy cosx 2y _ COSx
dx 2y 2y—1 2y-1

Q. 93 The derivative of cos™ (2x% — 1) w.r.t. cos ™ x is
-1

@2 (b)
2.1— x?
(b) 2 d)1- x?
X

Sol. (@) Letu=cos™' (2x2 —1)andv =cos ' x

sin x
2y —1

[ (sinx+ y)"2 = y]

av + -1 —4x
— = s4x =
dr[1-ex® -1 J1= @+ 1- 42)
B — 4x B - 4x
-4t + 4 Jax® (1- 12
2

1-x

1

o _
dx 1-x?

and

dx _du/dx -2/\1-«°

v av/dx ,1/\/1,362

2
Q. 94 If x =t? and y =t°, then d’y is equal to

dac?
3 3 3
(@ = (b) — (c) —
2 4t 2t
Sol. () Wehave, x=t?and y=t3
9% _otand Y 32
at at

dy dy/dt 8t® 3

dx dx/dt 2t 2
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On further differentiating w.r.t. x, we get

d%y _3.d, o

dx?® 2 dt dx
31 dt A
2 2t ['dx72t}
3
T4t

Q. 95 The value of ¢ in Rolle’s theorem for the function f(x) = x> — 3xin the
interval [0, \/§] is

3 1
1 b) —1 2 d)—
(@) (b) (C)2 ( )3
Sol. (a) flc)=0 [ flx) = 3x? — 3]
= 3c2-3=0
= c?= 3_ 1
3
= c =+ 1 where1e(0,+/3)
: c=1

Q. 96 For the function f(x)=x + 1 x €[1, 3], the value of c for mean value
X

theorem is
(@1 (b) 3
(@2 (d) None of these
f(b) — fi
Sol. () - fric)= (b) - f(a)
b-a
1 1
1 {3+5}_{1+J '.‘f'(x):17i2
- e T .
° B andb=3a=1
10
-1 37 ?
3 =
c? 2
c?-1 4 2
= 5 — _=
c 3x2 3
= 3c? - 1)=2c?
= 3c2-2c2=3
= c?2=3=c=+3
c=+3¢(139)
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Q. 97 An example of a function which is continuous everywhere but fails to

be differentiable exactly at two points is

Sol. | x| +|x — 1] is continuous everywhere but fails to be differentiable exactly at two points

x=0andx =1
So, there can be more such examples of functions.

Q. 98 Derivative of ¥ w.r.t. x* is ......... .

Sol. perivative of x? wrt. x% is 33
x

Let u=x?andv = x*
d—u:2xand il = 3x?
dx dx
au 2x 2
= - _ - =
av  3x° 3«
T .
Q. 99 If f(x) =|cos x|, then f' (4} is equal to ......... .

Sol. If f(x)=|cos x|, then ' [%)

T
O<x<§,cosx>0.

f(x)=+cosx

fr (x) = (—sinx)
= I"(Ej=—sinE =i |: sm—:i}
4 4 2 4 2
Q. 100 If f(x) =|cosx - sin x|, then f’(gj is equal to ......... .
Sol. - f(x) = |cosx — sinx|,
N N3+ 1
f[s)_ 2

T T .
We know that, 1 <x <—,Ssinx >CoSx

.cosx —sink <01/.e, f(x) = —(cos x — sin x)
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Q. 101 For the curve Vx +./y =1, dy at G 1jis ......... .

dx 4
dy 1 1).
Sol. Forthecurve Vx +.Jy =1 —~ at (f, j is—1
dx 4 4
We have, Vx + 4y =1
ft L_',i%_o
2Jdx 2y dx
& __Jy
- dx  x
1
(@), -7
dx (ﬁlj 1
44 5
True/False

Q. 102 Rolle’s theorem is applicable for the function f(x) =|x-1|in[0, 2].

Sol. False
Hence, f(x)=|x - 1|in [0, 2]is not differentiable at x =1 (0, 2).

Q. 103 If f is continuous on its domain D, then | f |is also continuous on D.

Sol. True

Q. 104 The composition of two continuous function is a continuous
function.

Sol. True

Q. 105 Trigonometric and inverse trigonometric functions are differentiable
in their respective domain.

Sol. True

Q. 106 If f - g is continuous at x =a, then f and g are separately continuous
at x =a.
Sol. False
Let f(x)=sinx and g (x)=cot x
f(x) - g(x) = sinx - 22°F

sinx
which is continuous at x = 0 but cotx is not continuous at x = 0.

=C0sSx
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